= A
= 0 & AF S 8 A A
=Z 13 LdetgH 2
3es
AESAH(SES)
DEEA 2 BN X SlHH)
N ZH -2 (3) - NEAY - BES 0] AFoH ) [Elio 2
1,135,681 1,097,956 37,725
AME22S) 701,776 684,051 17,725
EAN Y SHET XS 701,776 684,051 17,725
QI=A BMEMNH A 39,876 37,426 2,450
405 KH&HE S| 3,950 1,500 2,450
01 IHAtY 2 E F SH 3,950 1,500 2,450
Ol Digiolg ZIHIE 2 2,450 0 2,450
-AEE )| 2,200,000 * 1CH 2,200 0 2,200
-8ot)| HXl X 150,000 * 1M 150 0 150
-9 Xt 100,000 * 1K 100 0 100
QIXXIME 2YX A 28,077 27,432 645
405 KHabE S 645 0 645
01 ML 2EFEY 645 0 645
FONXHE O=SHA HER 2L
215,00094 * 374 645 0 645
BIANE R 430,973 416,343 14,630
201 22| 190,915 188,785 2,130
01 AL 22| H 24,830 24,620 210
OB Z LAY FHIIUAN 242
210,000 * 13 210 0 210
02 222 166,085 164,165 1,920
O2zZe2 2 MA 106, 190 104,270 1,920
-HASZE WEAL I3
1,440,000 1,440 0 1,440
—A R A Qb 480,000 480 0 480
401 AlIEHIZ =20 181,600 177,100 4,500
01 Al&HI 181,600 177,100 4,500
OHAN 22 202 4,500,000 4,500 0 4,500
405 KHabE S 44,250 36,250 8,000
01 RML2SEFEY| 44,250 36,250 8,000
OFA & &X &) #¢
500,000 * 1CH 500 0 500
OEE =2=g Kl P
7,500,00024 * 1CH 7,500 0 7,500
SHARDAILZZ(ZSS) 263,123 243,123 20,000
ARBAEEZ 263,123 243,123 20,000
DIAGHE L ARDAY 155,123 135,123 20,000
401 AlEHIZ =20 134,000 114,000 20,000
01 Al&HI 114,000 94,000 20,000
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